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Note to the students: - All the Questions are compulsory and carry equal marks.      
	Q1. 
	Which of the following is true?

	Option A:
	A dynamic structure requires a simulator to perform analysis

	Option B:
	A dynamic structure does not require a simulator to perform any analysis

	Option C:
	Connectors transfers data unidirectionally

	Option D:
	Connectors transfers data bidirectionally

	
	

	Q2.
	Which lines depict that architecture defines constraints on an implementation?

	Option A:
	An implementation exhibits an architecture if it conforms to the structural decisions described by the architecture

	Option B:
	The implementation need not be divided into prescribed components

	Option C:
	An implementation exhibits an architecture if it conforms to the structural decisions described by the architecture and the implementation must be divided into prescribed components

	Option D:
	The implementation need not be divided into prescribed components

	
	

	Q3.
	Why does architecture dictate organizational structure?

	Option A:
	Architecture describes the structure of the system being developed which becomes engraved in the development project structure

	Option B:
	Architecture may describe structure as whole

	Option C:
	An implementation exhibits an architecture if it conforms to the structural decisions described by the architecture

	Option D:
	Architecture may not describe structure as whole

	
	

	Q4.
	Which of the following is right dependence relationship?

	Option A:
	Performance depends on how strongly components are coupled with other components in system

	Option B:
	Re-usability depends on the complexity of the inter-component communication and coordination

	Option C:
	Re-usability depends on the volume and complexity of the inter-component communication and coordination

	Option D:
	Modifiability depends on system’s modularization

	
	

	Q5.
	Which of the following does not belong to FURPS?

	Option A:
	Functionality

	Option B:
	Usability

	Option C:
	Reliability

	Option D:
	Speed Efficiency

	
	

	Q6.
	Which structure’s view shows the mapping of software onto hardware?

	Option A:
	Module Structure

	Option B:
	Process Structure

	Option C:
	Physical Structure

	Option D:
	Class Structure

	
	

	Q7. 
	Which of the following can be included under observable measure?

	Option A:
	How well the system during execution satisfy its behavioral requirements?

	Option B:
	How easy it is to integrate?

	Option C:
	How easy it is to test and modify?

	Option D:
	How easy it is to integrate and modify?

	
	

	Q8. 
	Which of the following is a correct statement?

	Option A:
	A highly modifiable system produces correct results

	Option B:
	A highly modifiable system does not produce correct results

	Option C:
	A highly modifiable system may or may not produces correct results

	Option D:
	Modifiability cannot be considered largely architectural

	
	

	Q9.
	What effect does achievement of quality attribute will have?

	Option A:
	The achievement of quality attribute will always have a positive effect

	Option B:
	The achievement of quality attribute will always have a negative effect

	Option C:
	The achievement of quality attribute will have a positive as well as negative effect

	Option D:
	The achievement of quality attribute will not have any effect

	
	

	Q10. 
	What is the main technique for achieving portable software?

	Option A:
	The main technique for achieving portable software is to isolate system dependency

	Option B:
	The main technique for achieving portable software is to increase the overall performance

	Option C:
	The main technique for achieving portable software is to have independent platform dependency and to increase overall performance

	Option D:
	The main technique for achieving portable software is to have independent platform dependency

	
	

	Q11. 
	Which of the following factors are discernable by run-time?

	Option A:
	Performance

	Option B:
	Modifiability

	Option C:
	Portability

	Option D:
	Integrability

	
	

	Q12. 
	Quality Management in software engineering is also known as __________.

	Option A:
	SQA

	Option B:
	SQM

	Option C:
	SQI

	Option D:
	SQA and SQM

	
	

	Q13.
	Which architectural style goal is to achieve Integrability?

	Option A:
	Data Flow Architecture

	Option B:
	Call and Return Architecture

	Option C:
	Data Centered Architectures

	Option D:
	Layered architecture

	
	

	Q14. 
	__________ is the first step in the software development life cycle.

	Option A:
	Analysis

	Option B:
	Design

	Option C:
	Problem/Opportunity Identification

	Option D:
	Development and Documentation

	
	

	Q15.
	Which of the following type has the main goal to achieve Modifiability?

	Option A:
	Main program and subroutine Architecture

	Option B:
	Object Oriented or abstract data type system

	Option C:
	Main program and subroutine Architecture, Object Oriented or abstract data type system

	Option D:
	Remote Procedure Call system

	
	

	Q16. 
	A type of middleware that allows for between the built-in applications and the real-time OS?

	Option A:
	Firmware 

	Option B:
	Database middleware

	Option C:
	Embedded Middleware

	Option D:
	Portals

	
	

	Q17.
	A “glue” between client and server parts of application.

	Option A:
	Middleware 

	Option B:
	Firmware

	Option C:
	Package

	Option D:
	System Software

	
	

	Q18.
	ERP stands for

	Option A:
	Enterprise Research Planning

	Option B:
	Enterprise Resource Planning

	Option C:
	Enterprise Resource Package

	Option D:
	Enterprise Research Package

	
	

	Q19. 
	All the operations in a transaction need to be completed before the database changes are made ______ ___ 

	Option A:
	functional

	Option B:
	available to the users

	Option C:
	permanent

	Option D:
	not made available to users

	
	

	Q20.
	 A language-processing system may translate an XML data description into 

	Option A:
	machine code and alternative XML representation

	Option B:
	a software module

	Option C:
	an alternative XML representation

	Option D:
	a machine code

	
	

	Q21.
	Which of the following type describes application architectures?

	Option A:
	Transaction processing applications

	Option B:
	Language processing systems

	Option C:
	Transaction processing applications and Language processing systems

	Option D:
	Client management systems

	
	

	Q22. 
	________ is the first step in the software development life cycle.

	Option A:
	Analysis

	Option B:
	Design

	Option C:
	Problem/Opportunity Identification

	Option D:
	Development and Documentation

	
	

	Q23.
	Main program/subprogram architectures & Remote procedure call architectures are sub styles of __________ 

	Option A:
	Data-centered architecture style 

	Option B:
	Data-flow architectures

	Option C:
	Call and return architecture

	Option D:
	Layered architecture

	
	

	Q24. 
	Which of the following can be included under Non observable measure? 

	Option A:
	How well the system during execution satisfy its behavioral requirements?

	Option B:
	Does the system functions as desired when connected to other systems?

	Option C:
	How easy it is to test and modify?

	Option D:
	How easy it is to integrate?

	
	

	Q25.
	Systems that involve interaction with a shared database can be considered as. 

	Option A:
	software-based

	Option B:
	client-based

	Option C:
	transaction-based

	Option D:
	server-based
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